vi) Express P-

. 1mn
iy What is the meannS

viii) What is the probability of getting at Jeast one
head in two tOSS€S of a fair coin?
aﬁﬁcﬁﬂ@ﬁ*{m@mmz g A
(head) So@ S AGIA FO?

7. . Answer any ten questions: 2x10=20

@A e e T e &

i) Whatisa categorical proposition?
/G s 3o (categorical p_ropoé.ition) IS¥:

,ii) What it means to say that a deductive argument
is valid? |

%ﬁ‘wm (3¢ T 1S Rce 22

' v xmg ADB;A VB\

LS AR  a
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iv)  What is a complementary class?
V= ooz @l e
v)  Give the contrapositive of (a) All members

are voters, and (b) some students are not

idealists.

/@f‘%{ﬁﬁ@ (contrapositive) Te & (a) T TT

Vi)

vii)

2 oA | (b) IR Pl 2l 8 SIeefar |
What is propositional function?

IBAICTE (propositional function) 5K

Why, according to Cdpi, the claim thatIand O’

propositions are sub-contraries is not correct?

W Z e Copi-a3 re 1 @38 O 7o+ 71 Sl Roi3e

(sub-contraries) 4J®l W<l AL 3 ?

viii) What is universal quantifier?

1X)

S [ (universal quantifier) &2

Why, according to modern formal logic,
DARAPTI is not valid?

VP (@ S SIpRere O e il DARAPTI

X)

£

_WW’I’H‘{W@E@?

QY 7 ?

Ho\y are the major and minor premises of a
standard form categorical syllogism defined?
Q3o MBI Smeers Ty (standard form

categorical syllogism)-93 g @ QAL Sy
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xi) Explain with an exatspe= o 11

P4
xii) What is truth—functlon?
PN (R (truth—function) &2

xiii) Construct the truth-table of

(poq)2(~a2~P)- |
(qu)D(~q:~p)—«ﬂaﬂ®]—m§aﬁb‘ﬂ1$§l
xiv) Distinguish between necessary and sufficient

condition.
SRS s =rsa g 2N T |

xv) Represent the Method of Concomitant
Variation schematically.

v\/ﬂiﬁ@%’ﬂ Ao HLFOF T2l 1S |

xvi) Say in a sentence or two what is argument by

~__analogy.
YV RS NI I e 3 e
. Answer any five quéStions: . 6x5=3()

- 1) Explain Obversion a5 4 form of immedjat
e T g e RO, - iate

BwldiS are ~rnaa
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I SR 9 il B33 e (Obversion)

ii)  Prove that the following arguments are invalid :

a)  (x)(Fx > Gx)
(3x)(Fx . Hx)
= (x)(Gx o Hx)

b)  (3x)(Rx.Sx)
(3x)(Sx- Tx)
~+ (3x) (Rx - Tx)
o T orive @ RS Jfeak o sy ¢
a)  (x)(Fx>Gx)
(3x)(Fx . Hx)
. (x)(Gx > Hx)

1\ e R VA ~ A\



¥}  No honesl men are Hars

liars

Al Cretans arc

.,

w
o -
™, g
g
. :'Azi‘
kY o
L
——r IR i
A ¢
o
V.
4 A :: M,}--J’
; i A8 o ¥
T e # i e
& I}vsu v*,vaA -
3
&
= g . FE
P g P - - »
s 2B P " 2 3 W
P £
™ gl i ) > "N 4
L ey Fi P » !
P § » ,-.'” . "
3 o & i &
% 3
Wl "T"‘v'gh"' ‘,A;”- v“, * 3 .
vl Islingu:s Py :
) S PO i ot @ 8
¥ e : 45 el a% » i
¥ oopnn¥ ; ' : )
AR SARN B
¥ o, 9[\.‘51 5»

Scanned with CamScanner



P . " B | gw
vili) Write a short discourse {ut

of probability.

wgrarets Eeie WAL

A
AR

B
¢ o L o
f & & § '&ﬁ
B oo
¥ ’ # g
L3 R - s Te
£ W ¥ B4 3"y ‘ICT&: ' :‘.,"I
.bgfiu b ol lovai il vy 8 8 VLR 3. g e
i o s * - { ] s ¢ 3
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& g
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